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B.A. (Part-I) (Semester-II)
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NEP - 2020 Level - 4.5
DSC - MJ - 6: Indian Economy II
Subject Code: 201
Day and Date: Friday, 05/04/2024 Total Marks: 80
Time: 08.00 a.m. to 11.00 a.m.
Instructions:
1. All questions are compulsory.
2. Figures to right indicate full marks.
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Question 1) Fill in the blanks. Marks 10
1) ......these factors are responsible for low productivity of Indian agriculture.
a) Increasing population burden b) Small size
 ¢) Traditional farming practices d) All bf the above
2) A process that causes changes in regular prodti‘ction ﬁméﬁon is called.....
a) Globalization b) Industrialization

c¢) Green Revolution  d) Revolution

3) Capital coming into the country from outside the geographical boundaries of

the country is.......
a) Foreign credit  b) Foreign trade  ¢) Foreign capital  d) Foreign aid
4 ) Reserve Bank of India was established in the year .....
a) 1940  b) 1935  ¢) 1951 d) 1969

5 ) Removal of undesirable restrictions, controls and licenses on imports and

manufacturing investment means... ...

a ) Privatization b) Globalization
¢) Liberalization d) Industrialization.
&
Question 2) Long Answer Questions (Any Two) Marks 40

1) Explain the role of agriculture in Indian economy and the causes and
solutions for low productivity of agriculture.
2) Explain the structure of service sector and its importance in Indian economy.

3) Explain what are micro, small and medium enterprises and their problems

and solutions.




Question 3) Write Short notes (any three) Marks 30

1) Consequences of Green Revolution
2) Effects of Globalization
3) Foreign investment benefits and limitations

4) Importance of banking business

5) Transport and communication business
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